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Choose the correct answer from the followir
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 Time quantui

corithm b. Priority scheduling

[gorithm d. Round robin schec
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b. SJF

d. Priority

A i = 1 ys 3
J. 1dlock avoidance algorithm
! b. Round-robin algorithm
d. Karn's algorithm
a
4, | \
a. Mutual exclusion b. No preemption
¢. Hold and wait d. All of the mentioned
5. ed to as
b. Logical addre
d. None of the mentioned
b. The size ol a proce ad s1ze Ol
a. External storage b. Secondary sto;
¢. Physical memory d. None of the mentioned
/ , which of the following is/are CPU scheduling alg
D >hortest Job rFirst

riority . All of the mentioned




11. In contiguous memory allocation:

a. Each process is contained in a single b. All process are contained in a single
contiguous section of memory contiguous section of memory
¢. The memory space is contiguous d. None of the above

12, What is the ready state of a process?
a. When process is scheduled to run after b. When process is unable to run until

some execution some lask has been completed
¢. When process is using the CPU d. None of the mentioned
13. A setof processes is deadlockif................
a. Each process is blocked and will b. Each process is terminated
remain so forever
¢. All processes are trying to kill each d. None of the mentioned
other

14. The number of processes completed per unit time is known as:

a. Output b. Throughput
c. Efficiency d. Capacity
15. Which of the following is not the state of a process?
a. New b. Old
c. Waiting d. Running
16. Which of the following do not belong to queues for processes?
a. Job Queue b. PCB queue
c. Device Queue d. Ready Queue
17. What is a long-term scheduler?
a. It selects processes which have to be b. Itselects processes which have to be
brought into the ready queue executed next and allocates CPU
c. Itselects processes which heave to d. None of the mentioned

remove from memory by swapping

I8. Suppose that a process is in “Blocked” state waiting for some 1/O service. When the
service is completed, it goes to the.................
a. Running state b. Ready state
¢ Suspended state d. Terminated state

19. The interval from the time of submission of a process to the time of completion is termed as:

a. Wailing time b. Turnaround time
¢. Response time d. Throughput
20. In priorily scheduling algorithm..................
a. CPU is allocated to the process with b. CPU is allocated to the process with
highest priority lowest priority
¢. Equal priority processes cannot be d. None of the mentioned
scheduled
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a) What is segmentation?
b) What are program threats an
a) What are the necessary conditic
b) What is the use of re

Explain with example _
a) Explain all the possible states o
b) What is PCB? :

a) What is File? What are h



